Homework #6; Problems 1,2,3 page 177

1. The command window session looks like this:

>>x = [0:2];

>>y = -3+i*x;

>>abs(y)

ans =

3.0000 3.1623 3.6056

>>sqrt(y)

ans =

0 + 1.7321i 0.2848 + 1.7553i 0.5503 + 1.8174i

>>(-5-7i)*y

ans =

5.0000 + 21.0000i 22.0000 + 16.0000i 29.0000 + 11.0000i

>>y/(6-3i)

ans =

-0.4000 - 0.2000i -0.4667 - 0.0667i -0.5333 + 0.0667i

2. The command window session looks like this:

>>x = -5-8i;y = 10-5i;

>>abs(x*y)

ans =

105.4751
>>angle(x*y)

ans =

-2.5930
>>abs(x/y)

ans =

0.8438
>>angle(x/y)

ans =

-1.6657

3. The session is

>>(180/pi)*atan2(8,5)

ans =

57.9946
>>(180/pi)*atan2(8,-5)

ans =

122.0054
>>(180/pi)*atan2(-8,5)

ans =

-57.9946

>>(180/pi)*atan2(-8,-5)

ans =

-122.0054

(Note: all answers have been converted into degrees.)
